ARIZONA DEPARTMENT OF TRANSPORTATION INTERMODAL TRANSPORTATION DIVISION CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2016081

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
0000 MO MOH T002101C	000-0(216)T	LOCAL	MOHAVE	CENTRAL	0	8	Paul Baich

Highway Termini	Location	Work Description
-----------------	----------	------------------

[•] OATMAN-TOPOCK HIGHWAY (OLD ROUTE 66) • Oatman Highway at Sacramento W

New Facilities (Construction of New Bridge)

BID RESULTS FOR 2016081

Bid Opening Date: 8/26/2016, Prequalification Required, Engineer Specialist: Paul Balch

Completion Date:

180 Calendar Days

The proposed project consists of constructing a new single span bridge with Prefabricated Bridge Elements (PBE) and related roadway and drainage improvements on Oatman Highway (Historic Route 66) across Sacramento Wash, located approximately one mile north of I-40, in Topock, Mohave County, Arizona. The work consists of constructing a new bridge, roadway approaches and channel improvements within Mohave County highway right-of-way. The work also includes signing, striping, concrete barrier, guard rail, seeding and other related work.

Bid Rank	Compared To Department Estimate	Bid Amount	Contractor	Extended Sum of Items
1	-4.4%	\$1,870,822.10	PULICE CONSTRUCTION, INC.	\$1,870,822.10
			2033 W. MOUNTAIN VIEW RD. PHOENIX, AZ 85021	
	+%	\$1,957,740:00	DEPARTMENT ESTIMATE	\$1,957,740.00
2	+21.1%	\$2,370,741.00	FNF CONSTRUCTION, INC.	\$2,370,741.00
			115 S. 48TH STREET TEMPE, AZ 85281	
3	+51.2%	\$2,960,604.90	VASTCO, INC.	\$2,960,604.90
			425 INDUSTRIAL DRIVE CHINO VALLEY, AZ 86323	

Winning Bidder is 4.4% Under Department Estimate (Difference = (\$86,917.90))

*** Bid Tabs for Proposal Pamphlet 2016081 ***

item Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2010011	ACRE CLEARING AND GRUBBIN	IG			
Bid Rank	Department Estimate	2.000	\$3,000.000	\$6,000.00	
1	PULICE CONSTRUCTION, INC.		\$2,500.000	\$5,000.00	-16.7%
2	FNF CONSTRUCTION, INC.		\$24,000.000	\$48,000.00	+700.0%
3	VASTCO, INC.		\$5,757.710	\$11,515.42	+91.9%
2020029	SQ.YD. REMOVAL OF ASPHALTIC	CONCRETE PAVEMENT			
Bid Rank	Department Estimate	4,118.000	\$3.000	\$12,354.00	
1	PULICE CONSTRUCTION, INC.		\$1.500	\$6,177.00	-50.0%
2	FNF CONSTRUCTION, INC.		\$0.700	\$2,882.60	-76.7%
3	VASTCO, INC.		\$2.800	\$11,530.40	-6.7%
2030301	CU.YD. ROADWAY EXCAVATION				8
Bid Rank	Department Estimate	2,784.000	\$12.000	\$33,408.00	
1	PULICE CONSTRUCTION, INC.		\$7.000	\$19,488.00	-41.7%
2	FNF CONSTRUCTION, INC.		\$11.000	\$30,624.00	-8.3%
3	VASTCO, INC.		\$46.730	\$130,096.32	+289.4%
2030451	CU.YD. CHANNEL EXCAVATION	·			
Bid Rank	Department Estimate	936.000	\$10.000	\$9,360.00	
1	PULICE CONSTRUCTION, INC.		\$4.000	\$3,744.00	-60.0%
2	FNF CONSTRUCTION, INC.		\$8.000	\$7,488.00	-20.0%
3	VASTCO, INC.	<u></u>	\$11.230	\$10,511.28	+12.3%
2030901	CU.YD. BORROW				
Bid Rank	Department Estimate	3,821.000	\$10.000	\$38,210.00	
1	PULICE CONSTRUCTION, INC.		\$30.000	\$114,630.00	+200.0%
2	FNF CONSTRUCTION, INC.		\$16.000	\$61,136.00	+60.0%
3	VASTCO, INC.		\$52.800	\$201,748.80	+428.0%
2090005	M.GAL. FURNISH WATER				
Bid Rank	Department Estimate	2,633.000	\$5.000	\$13,165.00	
1	PULICE CONSTRUCTION, INC.		\$3.000	\$7,899.00	-40.0%
2	FNF CONSTRUCTION, INC.		\$5.000	\$13,165.00	+0.0%
3	VASTCO, INC.		\$2.790	\$7,346.07	-44.2%
3030022	CU.YD. AGGREGATE BASE, CLA	SS 2	v		
Bid Rank	Department Estimate	938.000	\$42.000	\$39,396.00	
1	PULICE CONSTRUCTION, INC.		\$60.000	\$56,280.00	+42.9%
2	FNF CONSTRUCTION, INC.		\$58.000	\$54,404.00	+38.1%
3	VASTCO, INC.		\$98.950	\$92,815.10	+135.6%
4040125	TON FOG COAT				
Bid Rank	Department Estimate	2.000	\$750.000	\$1,500.00	
1	PULICE CONSTRUCTION, INC.		\$500,000	\$1,000.00	-33.3%

*** Bid Tabs for Proposal Pamphlet 2016081 ***

item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4040125	TON	FOG COAT				*
Bid Rank	Departmen	t Estimate	2.000	\$750.000	\$1,500.00	
2	FNF CONS	STRUCTION, INC.		\$2,000.000	\$4,000.00	+166.7%
3	VASTCO, I	NC.		\$708.620	\$1,417.24	_5.5%
4040163	TON	BLOTTER MATERIAL				
Bid Rank	Departmen	t Estimate	7.000	\$75.000	\$525.00	
1	PULICE CO	ONSTRUCTION, INC.		\$35.000	\$245.00	-53.3%
2	FNF CONS	STRUCTION, INC.		\$250.000	\$1,750.00	+233.3%
3	VASTCO, I	NC.		\$49.600	\$347.20	33.9%
4090006	TON	ASPHALTIC CONCRETE (MIS	CELLANEOUS STRUCTURA	L) (SPECIAL MIX)		
Bid Rank	Departmen	t Estimate	1,216.000	\$110.000	\$133,760.00	
1	PULICE CO	ONSTRUCTION, INC.		\$95.000	\$115,520.00	-13.6%
2	FNF CONS	STRUCTION, INC.		\$120.000	\$145,920.00	+9.1%
3	VASTCO,	NC.		\$130,390	\$158,554.24	+18.5%
7015010	L.FT.	TEMPORARY CONCRETE BA	RRIER (INSTALLATION AND	REMOVAL)		
Bid Rank	Departmen	t Estimate	1,710.000	\$10.000	\$17,100.00	
1	PULICE C	ONSTRUCTION, INC.		\$18.000	\$30,780.00	+80.0%
2	FNF CONS	STRUCTION, INC.		\$10,000	\$17,100.00	+0.0%
3	VASTCO,	INC.		\$17.710	\$30,284.10	+77.1%
7015020	EACH	TEMPORARY IMPACT ATTEN	UATORS (INSTALLATION AN	ID REMOVAL)		
Bid Rank	Departmen	nt Estimate	4.000	\$1,500.000	\$6,000.00	
1	PULICE C	ONSTRUCTION, INC.		\$400.000	\$1,600.00	-73.3%
2	FNF CONS	STRUCTION, INC.		\$1,500.000	\$6,000.00	+0.0%
3	VASTCO,	INC.		\$2,483.230	\$9,932.92	+65.5%
7015042	L.FT.	TEMPORARY PAINTED MARK	(ING (STRIPE)			
Bid Rank	Departmen		56.000	\$0.500	\$28.00	
1	PULICE C	ONSTRUCTION, INC.		\$10.000	\$560.00	+1900.0%
2	FNF CON	STRUCTION, INC.		\$6.000	\$336.00	+1100.0%
3	VASTCO,	INC.		\$29.800	\$1,668.80	+5860.0%
7016020	L.FT./DAY		ARRIER (IN USE)			
Bid Rank	Departmen	nt Estimate	23,840.000	\$0.200	\$4,768.00	
1	PULICE C	ONSTRUCTION, INC.		\$0.050	\$1,192.00	-75.0%
2	FNF CON	STRUCTION, INC.		\$0.500	\$11,920.00	+150.0%
3	VASTCO,	INC.	Owner Common Com	\$0.120	\$2,860.80	-40.0%
7016021	EACH-DA	Y TEMPORARY IMPACT ATTEN	IUATORS (IN USE)		<u> </u>	
Bid Rank	Departmen	nt Estimate	48.000	\$22.000	\$1,056.00	
1	PULICE C	ONSTRUCTION, INC.		\$10.000	\$480.00	-54.5%
2	THE CON	STRUCTION, INC.		\$40,000	\$1,920.00	+81.8%

*** Bid Tabs for Proposal Pamphlet 2016081 ***

Item Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016021	EACH-DAY TEMPORARY IMPACT ATTENUATO	ORS (IN USE)			
Bid Rank	Department Estimate	48.000	\$22.000	\$1,056.00	
3	VASTCO, INC.		\$37.250	\$1,788.00	+69.3%
7016030	EACH-DAY BARRICADE (TYPE II, VERT.PANE	L, TUBULAR MARKER)	***		
Bid Rank	Department Estimate	3,000.000	\$0.300	\$900.00	
1	PULICE CONSTRUCTION, INC.		\$0.300	\$900.00	+0.0%
2	FNF CONSTRUCTION, INC.		\$0.500	\$1,500.00	+66.7%
3_	VASTCO, INC.		\$0.200	\$600.00	-33.3%
7016031	EACH-DAY BARRICADE (TYPE III, HIGH LEVE	EL FLAG TREES)			
Bid Rank	Department Estimate	24.000	\$0.750	\$18.00	
1	PULICE CONSTRUCTION, INC.		\$1.100	\$26.40	+46.7%
2	FNF CONSTRUCTION, INC.		\$1.000	\$24.00	+33.3%
3	VASTCO, INC.		\$0.610	\$14.64	-18.7%
7016033	EACH-DAY PORTABLE SIGN STANDS (SPRIN	IG TYPE)			- W W W W-
Bid Rank	Department Estimate	448.000	\$2.000	\$896.00	
1	PULICE CONSTRUCTION, INC.		\$1.100	\$492.80	-45.0%
2	FNF CONSTRUCTION, INC.		\$1.000	\$448.00	-50.0%
3	VASTCO, INC.		\$0.610	\$273.28	-69.5%
7016035	EACH-DAY WARNING LIGHTS (TYPE A)				
Bid Rank	Department Estimate	554.000	\$0.250	\$138.50	
1	PULICE CONSTRUCTION, INC.		\$0.250	\$138.50	+0.0%
2	FNF CONSTRUCTION, INC.		\$0.500	\$277.00	+100.0%
3	VASTCO, INC.		\$0.200	\$110.80	-20.0%
7016037	EACH-DAY WARNING LIGHTS (TYPE C)				
Bid Rank	Department Estimate	2,680.000	\$0.800	\$2,144.00	
1	PULICE CONSTRUCTION, INC.		\$0.300	\$804.00	-62.5%
2	FNF CONSTRUCTION, INC.		\$0.500	\$1,340.00	-37.5%
3	VASTCO, INC.	200	\$0.200	\$536.00	-75.0%
7016039	EACH-DAY EMBEDDED SIGN POST				
Bid Rank	Department Estimate	804.000	\$0.200	\$160.80	
1	PULICE CONSTRUCTION, INC.		\$0.300	\$241.20	+50.0%
2	FNF CONSTRUCTION, INC.		\$0.500	\$402.00	+150.0%
3	VASTCO, INC.		\$0.130	\$104.52	-35.0%
7016051	EACH-DAY TEMPORARY SIGN (LESS THAN	10 S.F.)	×		
Bid Rank	Department Estimate	904.000	\$0.500	\$452.00	
1	PULICE CONSTRUCTION, INC.		\$0.750	\$678.00	+50.0%
2	FNF CONSTRUCTION, INC.		\$1.000	\$904.00	+100.0%
3	VASTCO, INC.		\$0.610	\$551.44	+22.0%

*** Bid Tabs for Proposal Pamphlet 2016081 ***

Item Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016052	EACH-DAY TEMPORARY SIGN (10 S.F. OR MO	RE)	40		-
Bid Rank	Department Estimate	402.000	\$1.000	\$402.00	
1	PULICE CONSTRUCTION, INC.		\$1.000	\$402.00	+0.0%
2	FNF CONSTRUCTION, INC.		\$1.000	\$402.00	+0.0%
3	VASTCO, INC.		\$0.610	\$245.22	-39.0%
7016061	EACH-DAY FLASHING ARROW PANEL	*			
Bid Rank	Department Estimate	32.000	\$25.000	\$800.00	
1	PULICE CONSTRUCTION, INC.		\$16.000	\$512.00	-36.0%
2	FNF CONSTRUCTION, INC.		\$16.000	\$512.00	-36.0%
3	VASTCO, INC.		\$16.140	\$516.48	-35.4%
7016067	EACH-DAY CHANGEABLE MESSAGE BOARD	CONTRACTOR FURNISH	IED)		
Bid Rank	Department Estimate	268.000	\$100.000	\$26,800.00	
1	PULICE CONSTRUCTION, INC.		\$28.000	\$7,504.00	-72.0%
2	FNF CONSTRUCTION, INC.		\$20.000	\$5,360.00	-80.0%
3	VASTCO, INC.		\$21.520	\$5,767.36	-78.5%
7016075	HOUR FLAGGING SERVICES (CIVILIAN)				
Bid Rank	Department Estimate	160.000	\$32.000	\$5,120.00	
1	PULICE CONSTRUCTION, INC.		\$30.000	\$4,800.00	-6.3%
2	FNF CONSTRUCTION, INC.		\$30.000	\$4,800.00	-6.3%
3	VASTCO, INC.		\$35.300	\$5,648.00	+10.3%
7016078	HOUR FLAGGING SERVICES (LOCAL EN	FORCEMENT OFFICER)			
Bid Rank	Department Estimate	160.000	\$65.000	\$10,400.00	
1	PULICE CONSTRUCTION, INC.		\$65.000	\$10,400.00	+0.0%
2	FNF CONSTRUCTION, INC.		\$65.000	\$10,400.00	+0.0%
3	VASTCO, INC.		\$72.010	\$11,521.60	+10.8%
7080001	L.FT. PERMANENT PAVEMENT MARKING	G (PAINTED) (WHITE)			
Bid Rank	Department Estimate	2,970.000	\$0.500	\$1,485.00	
1	PULICE CONSTRUCTION, INC.		\$0.500	\$1,485.00	+0.0%
2	FNF CONSTRUCTION, INC.		\$0.300	\$891.00	-40.0%
3	VASTCO, INC.		\$1.180	\$3,504.60	+136.0%
7080011	L.FT. PERMANENT PAVEMENT MARKIN	G (PAINTED) (YELLOW)	-		
Bid Rank	Department Estimate	2,970.000	\$0.500	\$1,485.00	
1	PULICE CONSTRUCTION, INC.		\$0.500	\$1,485.00	+0.0%
2	FNF CONSTRUCTION, INC.		\$0.300	\$891.00	-40.0%
3	VASTCO, INC.		\$1.180	\$3,504.60	+136.0%
7370202	L.SUM TEMPORARY TRAFFIC SIGNAL (10	0')			· · · · · · · · · · · · · · · · · · ·
Bid Rank	Department Estimate	1.000	\$20,000.000	\$20,000.00	
1	PULICE CONSTRUCTION, INC.		\$8,000.000	\$8,000.00	-60.0%

*** Bid Tabs for Proposal Pamphlet 2016081 ***

Item Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7370202	L.SUM TEMPORARY TRAFFIC SIGNAL	(10')			-
Bid Rank	Department Estimate	1.000	\$20,000.000	\$20,000.00	
2	FNF CONSTRUCTION, INC.		\$12,000.000	\$12,000.00	-40.0%
3	VASTCO, INC.		\$8,070.490	\$8 _, 070.49	-59.6%
8050003	ACRE SEEDING (CLASS II)				
Bid Rank	Department Estimate	2.000	\$4,500.000	\$9,000.00	
1	PULICE CONSTRUCTION, INC.		\$3,300.000	\$6,600.00	-26.7%
2	FNF CONSTRUCTION, INC.		\$5,000.000	\$10,000.00	+11.1%
3	VASTCO, INC.		\$4,902.850	\$9,805.70	+9.0%
8101018	SQ.YD. EROSION CONTROL (STABILIZE	D CONSTRUCTION ENT	RANCE/EXIT GRAVE	EL PAD)	
Bid Rank	Department Estimate	400.000	\$20.000	\$8,000.00	
1	PULICE CONSTRUCTION, INC.		\$11.000	\$4,400.00	-45.0%
2	FNF CONSTRUCTION, INC.		\$20.000	\$8,000.00	+0.0%
3	VASTCO, INC.		\$18.620	\$7,448.00	-6.9%
8101021	L.FT. EROSION CONTROL (WATTLES) (9")			
Bid Rank	Department Estimate	1,340.000	\$2.000	\$2,680.00	
1	PULICE CONSTRUCTION, INC.		\$1.750	\$2,345.00	-12.5%
2	FNF CONSTRUCTION, INC.		\$3.000	\$4,020.00	+50.0%
3	VASTCO, INC.		\$2.870	\$3,845.80	+43.5%
9010001	L.SUM MOBILIZATION				
Bid Rank	Department Estimate	1.000	\$200,000.000	\$200,000.00	
1	PULICE CONSTRUCTION, INC.		\$223,920.000	\$223,920.00	+12.0%
2	FNF CONSTRUCTION, INC.		\$267,000.000	\$267,000.00	+33.5%
3	VASTCO, INC.		\$340,000.000	\$340,000.00	+70.0%
9050001	L.FT. GUARD RAIL, W-BEAM, SINGLE	FACE			
Bid Rank	Department Estimate	550.000	\$20.000	\$11,000.00	
1	PULICE CONSTRUCTION, INC.		\$17,000	\$9,350.00	-15.0%
2	FNF CONSTRUCTION, INC.		\$20.000	\$11,000.00	+0.0%
3	VASTCO, INC.		\$21.050	\$11,577.50	+5.3%
9050028	EACH GUARD RAIL TERMINAL (FLARE	TYPE)			
Bid Rank	Department Estimate	4.000	\$2,000.000	\$8,000.00	
1	PULICE CONSTRUCTION, INC.		\$2,250.000	\$9,000.00	+12.5%
2	FNF CONSTRUCTION, INC.		\$2,800.000	\$11,200.00	+40.0%
3	VASTCO, INC.		\$2,765.080	\$11,060.32	+38.3%
9050202	L.FT. GUARD RAIL (NESTED STEEL V	V BEAM)			-
Bid Rank	Department Estimate	150.000	\$20.000	\$3,000.00	
1	PULICE CONSTRUCTION, INC.		\$13.000	\$1,950.00	-35.0%
2	FNF CONSTRUCTION, INC.		\$17.000	\$2,550.00	-15.0%

*** Bid Tabs for Proposal Pamphlet 2016081 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9050202	L.FT.	GUARD RAIL (NESTED STEEL W B	EAM)			
Bid Rank	Department	SHOW THE SHOW AND	150.000	\$20.000	\$3,000.00	
3	VASTCO, II			\$16.020	\$2,403.00	-19.9%
9130008	CU.YD.	RIPRAP (DUMPED) (12")				
Bid Rank	Department	t Estimate	1,730.000	\$87.000	\$150,510.00	
1	PULICE CO	INSTRUCTION, INC.		\$70.000	\$121,100.00	-19.5%
2	FNF CONS	TRUCTION, INC.		\$75.000	\$129,750.00	-13.8%
3	VASTCO, II	NC.		\$80.220	\$138,780.60	-7.8%
9130030	CU.YD.	RIPRAP (GABIONS) (MATTRESS) (I	DETAIL E)			
Bid Rank	Department	t Estimate	41.000	\$250.000	\$10,250.00	
1	PULICE CO	INSTRUCTION, INC.		\$200.000	\$8,200.00	-20.0%
2	FNF CONS	TRUCTION, INC.		\$230.000	\$9,430.00	-8.0%
3	VASTCO, I	NC.		\$276.800	\$11,348.80	+10.7%
9160001	L.FT.	EMBANKMENT CURB				
Bid Rank	Departmen	t Estimate	523.000	\$10.000	\$5,230.00	
1	PULICE CO	DNSTRUCTION, INC.		\$5.000	\$2,615.00	-50.0%
2	FNF CONS	TRUCTION, INC.		\$10.000	\$5,230.00	+0.0%
3	VASTCO, I	NC.		\$9.020	\$4,717.46	-9.8%
9170001	L.FT.	EMBANKMENT SPILLWAY (C-4.10)				
Bid Rank	Departmen	t Estimate	68.000	\$100.000	\$6,800.00	
1	PULICE CO	DNSTRUCTION, INC.		\$55.000	\$3,740.00	-45.0%
2	FNF CONS	TRUCTION, INC.		\$140.000	\$9,520.00	+40.0%
3	VASTCO, I	NC.		\$85.650	\$5,824.20	-14.3%
9170021	EACH	INLET (C-4.10) (SINGLE)				
Bid Rank	Departmen	t Estimate	4.000	\$2,000.000	\$8,000.00	
1		ONSTRUCTION, INC.		\$1,000.000	\$4,000.00	-50.0%
2		TRUCTION, INC.		\$2,200.000	\$8,800.00	+10.0%
3	VASTCO, I	NC.		\$736.300	\$2,945.20	-63.2%
9240010	L.SUM	FORCE ACCOUNT WORK (ABC TE	CHNOLOGY SHOWCA	NSE)		
Bid Rank	Departmen	t Estimate	1.000	\$10,000.000	\$10,000.00	
1		ONSTRUCTION, INC.		\$10,000.000	\$10,000.00	+0.0%
2	FNF CONS	STRUCTION, INC.		\$10,000.000	\$10,000.00	+0.0%
3	VASTCO, I	NC.		\$10,000.000	\$10,000.00	+0.0%
9240170	L.SUM	CONTRACTOR QUALITY CONTRO	L			
Bid Rank	Departmen	t Estimate	1.000	\$50,000.000	\$50,000.00	
1	PULICE C	ONSTRUCTION, INC.		\$25,000.000	\$25,000.00	-50.0%
2	FNF CONS	STRUCTION, INC.		\$35,000.000	\$35,000.00	-30.0%
3	VASTCO, I	NC.		\$110,354.720	\$110,354.72	+120.7%

*** Bid Tabs for Proposal Pamphlet 2016081 ***

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240181	SQ.YD. MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANS	S) (MANUAL/MECH/	ANICAL METHOD)	
Bid Rank	Department Estimate	4,356.000	\$0.600	\$2,613.60	
1	PULICE CONSTRUCTION, INC.		\$1.000	\$4,356.00	+66.7%
2	FNF CONSTRUCTION, INC.		\$0.800	\$3,484.80	+33.3%
3	VASTCO, INC.		\$1.200	\$5,227.20	+100.0%
9240182	SQ.YD. MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLAN	TS) (HERBICIDE)	JA	
Bid Rank	Department Estimate	5,324.000	\$0.400	\$2,129.60	
9	PULICE CONSTRUCTION, INC.		\$0.300	\$1,597.20	-25.0%
2	FNF CONSTRUCTION, INC.		\$0.400	\$2,129.60	+0.0%
3	VASTCO, INC.		\$0.370	\$1,969.88	-7.5%
9250001	L.SUM CONSTRUCTION SURVEY	ING AND LAYOUT			
Bid Rank	Department Estimate	1.000	\$25,000.500	\$25,000.50	
1	PULICE CONSTRUCTION, INC.		\$25,000.000	\$25,000.00	0.0%
2	FNF CONSTRUCTION, INC.		\$36,000.000	\$36,000.00	+44.0%
3	VASTCO, INC.		\$37,248.450	\$37,248.45	+49.0%
2030501 A	CU.YD. STRUCTURAL EXCAVATIO	N			
Bid Rank	Department Estimate	220.000	\$45.000	\$9,900.00	
1	PULICE CONSTRUCTION, INC.		\$10.000	\$2,200.00	-77.8%
2	FNF CONSTRUCTION, INC.		\$20.000	\$4,400.00	-55.6%
3	VASTCO, INC.		\$52.340	\$11,514.80	+16.3%
6011140 A	L.FT. F-SHAPE BRIDGE CONCR	ETE BARRIER AND TRANSITIO	N (34")		
Bid Rank	Department Estimate	331.000	\$120.000	\$39,720.00	
1	PULICE CONSTRUCTION, INC.		\$50.000	\$16,550.00	-58.3%
2	FNF CONSTRUCTION, INC.		\$100.000	\$33,100.00	-16.7%
3	VASTCO, INC.		\$63.910	\$21,154.21	-46.7%
9050430 A	EACH THRIE-BEAM GUARD RAIL	TRANSITION SYSTEM			
Bid Rank	Department Estimate	4.000	\$2,500.000	\$10,000.00	
1	PULICE CONSTRUCTION, INC.		\$1,750.000	\$7,000.00	-30.0%
2	FNF CONSTRUCTION, INC.		\$2,200.000	\$8,800.00	-12.0%
3	VASTCO, INC.		\$2,142.220	\$8,568.88	-14.3%
9140153 A	SQ.FT. RETAINING WALL (SPECIA	AL DETAIL)			
Bid Rank	Department Estimate	959.000	\$75.000	\$71,925.00	
1	PULICE CONSTRUCTION, INC.		\$40.000	\$38,360.00	-46.7%
2	FNF CONSTRUCTION, INC.		\$70.000	\$67,130.00	-6.7%
3	VASTCO, INC.		\$29.900	\$28,674.10	-60.1%
9240046 A	CU.YD. MISCELLANEOUS WORK	(CONSTRUCT CLOSURE POUR	RS)		
Bid Rank	Department Estimate	57.000	\$750.000	\$42,750.00	
1	PULICE CONSTRUCTION, INC.		\$875.000	\$49,875.00	+16.7%

*** Bid Tabs for Proposal Pamphlet 2016081 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240046 A	CU.YD.	MISCELLANEOUS WORK (CO	ONSTRUCT CLOSURE POUR	S)		
Bid Rank	Department	t Estimate	57.000	\$750.000	\$42,750.00	
2	FNF CONS	TRUCTION, INC.		\$900,000	\$51,300.00	+20.0%
3	VASTCO, I	NC.		\$334.120	\$19,044.84	-55.5%
9240047 A	CU.YD.	MISCELLANEOUS WORK (G	EOGRID REINFORCED BACK	FILL)		
3id Rank	Department	t Estimate	780.000	\$75.000	\$58,500.00	
1	PULICE CO	DNSTRUCTION, INC.		\$60.000	\$46,800.00	-20.0%
2	FNF CONS	TRUCTION, INC.		\$70.000	\$54,600.00	-6.7%
3	VASTCO, I	NC.		\$97.720	\$76,221.60	+30.3%
9240119 A	EACH	MISCELLANEOUS WORK (PI	REFABRICATED INTERIOR DI	ECK UNIT)		
3id Rank	Departmen	t Estimate	2.000	\$125,000.000	\$250,000.00	
1	PULICE CO	ONSTRUCTION, INC.		\$128,300.000	\$256,600.00	+2.6%
2	FNF CONS	TRUCTION, INC.		\$158,000.000	\$316,000.00	+26.4%
3	VASTCO, I	NC.		\$177,976.000	\$355,952.00	+42.4%
9240120 A	EACH	MISCELLANEOUS WORK (P	REFABRICATED EXTERIOR D	ECK UNIT)		
3id Rank	Departmen	t Estimate	2.000	\$125,000.000	\$250,000.00	
1	PULICE CO	ONSTRUCTION, INC.		\$130,000.000	\$260,000.00	+4.0%
2	FNF CONS	STRUCTION, INC.		\$158,000.000	\$316,000.00	+26.4%
3	VASTCO, I	NC.		\$177,976.000	\$355,952.00	+42.4%
9240121 A	EACH	MISCELLANEOUS WORK (P	REFABRICATED INTERIOR A	PPROACH SLAB)		
Bid Rank	Departmen	t Estimate	4.000	\$4,500.000	\$18,000.00	
1	PULICE CO	ONSTRUCTION, INC.		\$3,500.000	\$14,000.00	-22.2%
2	FNF CONS	STRUCTION, INC.		\$12,000.000	\$48,000.00	+166.7%
3	VASTCO, I	NC.		\$15,523.460	\$62,093.84	+245.0%
9240122 A	EACH	MISCELLANEOUS WORK (P	REFABRICATED EXTERIOR A	PPROACH SLAB)		
Bid Rank	Departmen		4.000	\$4,500.000	\$18,000.00	
1		ONSTRUCTION, INC.		\$3,500.000	\$14,000.00	-22.2%
2		STRUCTION, INC.		\$10,000.000	\$40,000.00	+122.2%
3	VASTCO, I	NC.		\$15,523.460	\$62,093.84	+245.0%
9240127 A	EACH	MISCELLANEOUS WORK (P	REFABRICATED MOMENT SL	AB)		8
Bid Rank	Departmen	t Estimate	4.000	\$2,600.000	\$10,400.00	
1	PULICE C	ONSTRUCTION, INC.		\$2,200.000	\$8,800.00	-15.4%
2	FNF CONS	STRUCTION, INC.		\$7,000.000	\$28,000.00	+169.2%
3	VASTCO,	INC.		\$9,294.300	\$37,177.20	+257.5%
9240133 A	EACH	MISCELLANEOUS WORK (P	REFABRICATED ABUTMENT	CAP)		E
Bid Rank	Departmer	nt Estimate	2.000	\$30,000.000	\$60,000.00	
1	PULICE C	ONSTRUCTION, INC.		\$30,000.000	\$60,000.00	+0.0%
2	ENE CONG	STRUCTION, INC.		\$45,000.000	\$90,000.00	+50.0%

*** Bid Tabs for Proposal Pamphlet 2016081 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240133 A	EACH	MISCELLANEOUS WORK (PR	REFABRICATED ABUTMENT	CAP)		
Bid Rank	Department	Estimate	2.000	\$30,000.000	\$60,000.00	
3	VASTCO, II	NC.	to a constraint	\$105,796.840	\$211,593.68	+252.7%
9240134 A	EACH	MISCELLANEOUS WORK (PF	REFABRICATED ABUTMENT	BACKWALL)	-	
Bid Rank	Department	: Estimate	4.000	\$2,750.000	\$11,000.00	
1	PULICE CO	INSTRUCTION, INC.		\$3,750.000	\$15,000.00	+36.4%
2	FNF CONS	TRUCTION, INC.		\$9,000.000	\$36,000.00	+227.3%
3	VASTCO, II	NC.		\$13,051.570	\$52,206.28	+374.6%
9240135 A	EACH	MISCELLANEOUS WORK (PF	REFABRICATED ABUTMENT	CHEEKWALL)		
Bid Rank	Department	t Estimate	4.000	\$1,250.000	\$5,000.00	
1	PULICE CO	INSTRUCTION, INC.		\$1,500.000	\$6,000.00	+20.0%
2	FNF CONS	TRUCTION, INC.		\$5,000.000	\$20,000.00	+300.0%
3	VASTCO, I	NC.		\$4,152.770	\$16,611.08	+232.2%
6090060 B	L.FT.	DRILLED SHAFT FOUNDATIO	N (60")	•		
Bid Rank	Department	t Estimate	300.000	\$675.000	\$202,500.00	
1	PULICE CO	ONSTRUCTION, INC.		\$700.000	\$210,000.00	+3.7%
2	FNF CONS	TRUCTION, INC.		\$825.000	\$247,500.00	+22.2%
3	VASTCO, I	NC.		\$712.680	\$213,804.00	+5.6%